m

On the one-sided boundedness of discrepancy-function of the sequence $\{na\}$

by

Y. Dupain (Bordeaux) and Vera T. Sós (Budapest)

Let

$$\Delta_N([a,b);a) = \sum_{n=1}^N \chi_{[a,b)}(\{na\}) - (b-a)N$$

where $\{na\}$ is the fractional part of na, $0 \le a < b < 1$ and $\chi_{[a,b)}$ is the characteristic function of [a,b).

It was proved by Hecke [7] (part of sufficiency) and by Kesten [8] (the more difficult part of necessity), that $\Delta_N([a,b);a)$ is bounded in N if and only if

$$b-a \in R(a) \doteq \{\beta : \beta = \{ka\} \text{ for some nonzero integer } k\}.$$

Very elegant proofs of this theorem in the framework of ergodic theory are due to Furstenberg, Keynes and Shapiro [5], Halász [6] and Petersen [14]. It is remarkable, that on the other side this theorem — and further properties of Δ_N — have consequences for ergodic theory. (See e.g. Herman [9], [10], Deligne [1].)

Here we consider the question of one-sided boundedness. Some previous results already show the phenomenon, that the irregularity of the sequence $\{na\}$ is not necessarily a two-sided irregularity: e.g. though

$$\sum_{n=1}^{N} \{na\} - \frac{1}{2}N = \Omega(\log N)$$

(Ostrowski [13]) it can be one-sidedly bounded (T. Sós [15]).

It was observed (T. Sós [16], [17], Monteferrante — unpublished) that analogously, though $\Delta_N([a,b);\alpha)$ is unbounded when $b-a \notin R(\alpha)$ yet it can be one-sidedly bounded. More detailed and specified results have been proved by Dupain [3], [4], e.g. the following ones:



1. Suppose the partial quotients (a_n) of the irrational a satisfy:

$$a_{2n-1}=2$$
 for $n\in N$ and $\sum_{n=1}^{\infty}\frac{1}{a_{2n}}<\infty$.

Then $\Delta_N([0, \frac{1}{2}); a)$ is bounded from below.

- 2. Suppose a has unbounded partial quotients. Then there exist $\beta \notin R(a)$ for which $\Delta_N([0,\beta))$ is one-sidedly bounded.
- 3. For $\alpha = (\sqrt{5}-1)/2$ and $\beta \notin R(\alpha)$ $\Delta_N([0,\beta))$ cannot be bounded from above.

The following theorem gives a necessary and sufficient condition for the one-sided boundedness of $\Delta_N([0,\beta);\alpha)$ in the case when α has bounded partial quotients. The "sufficient" part remains true for arbitrary irrational α but not the "necessary" part. This result includes 1 and 3.

THEOREM A. Suppose the irrational a has bounded partial quotients. Then $A_N([0,\beta);a)$ is bounded from above if and only if for some nonnegative integers k, n (with the usual notation (7)–(9))

(1)
$$\beta \equiv \{ka\} - r\{q_{2n+1}a\} \bmod 1,$$
 where

(2)
$$0 \le k < q_{2n+2}$$

(3)
$$0 \leqslant r \leqslant 1$$
 and $ra_{2\nu}$ is nonnegative integer for $\nu > n$. (1)

Analogously, $\Delta_N([0,\beta);\alpha)$ is bounded from below if and only if for some nonnegative integers k, n

(4)
$$\beta = \{ka\} + r\{-q_{2n}a\} \quad (\{-q_0a\} =: 1)$$

where

$$0 \leqslant k < q_{2n+1},$$

(6)
$$0 \le r \le 1$$
 and ra_{2r+1} is nonnegative integer for $v \ge n$.

THEOREM B. Let a be an arbitrary irrational number and β be a number given by (1)-(3), resp. (4)-(6). Then $\Delta_N([0,\beta);a)$ is bounded from above, resp. from below.

Corollaries. Let α be an irrational number, (a_n) be the sequence of the partial quotients of α .

⁽¹⁾ i.e. for r = p/q, (p, q) = 1, $q|a_{2r}$ for r > n.

n

I. Suppose

$$a_{2n+1}$$
 even for $n = 0, 1, ...,$

resp.

$$a_{2n}$$
 even for $n=1,2,...$

Then

$$A_N([0, \frac{1}{2}); a), \quad resp. \quad A_N([0, a/2); a) \quad and \quad A_N([0, 1-a/2); a)$$

is bounded from below, resp. from above. (See 1.)

II. Suppose

g.e.d.
$$(a_{2n}, a_{2n+2}, \ldots, a_{2n+2k}, \ldots) = 1, (2)$$

resp.

g.c.d.
$$(a_{2n+1}, \ldots, a_{2n+2k+1}, \ldots) = 1$$
 for $n = 1, 2, \ldots$

Then $\Delta_N([0, \beta); \alpha)$ is bounded from above, resp. from below if and only if it is bounded; if and only if $\beta = \{k\alpha\}$ with some integer k. (See 2.)

III. Suppose a has bounded partial quotients. Then the set of all the β 's with one-sidedly bounded $A_N([0,\beta);a)$ is a countable set. (*)

Notations and some previous results. Let $a = [0, a_1, a_2, ...]$ be the continued fraction expansion of a. We shall use the notations and consequences:

(7)
$$\frac{p_n}{q_n} = [0, a_1, \dots, a_{n-1}], \quad q_{n+1} = a_n q_n + q_{n-1}, \quad p_{n+1} = a_n p_n + p_{n-1},$$

$$\theta_n = q_n a - p_n, \quad \theta_{n+1} = a_n \theta_n + \theta_{n-1},$$

$$\lambda_n = |\theta_n| = (-1)^{n+1} \theta_n,$$

$$\sum_{\nu=0}^{\infty} a_{k+2\nu} \theta_{k+2\nu} = -\theta_{k-1}, \quad k = 1, \dots (\theta_0 = -1),$$
(9)
$$\sum_{n=0}^{\infty} a_{k+2\nu} q_{k+2\nu} = q_{k+2n+1} - q_{k-1}, \quad k = 1, \dots (q_0 = 0).$$

It is well known that each positive integer N can be uniquely represented in the form

$$(10) N = \sum_{k=1}^{m} d_k q_k,$$

where

$$(11) 0 \leqslant d_1 \leqslant a_1 - 1, \quad 0 \leqslant d_k \leqslant a_k \quad \text{for} \quad k \geqslant 2,$$

$$(12) d_k = 0 if d_{k+1} = a_{k+1}.$$

(2) g.c.d. (c_1, \ldots) denotes the greatest common divisor of (c_1, \ldots) .

⁽³⁾ However, it could be shown that for α with unbounded partial quotients it can be a set of power of continuum.



It also is known (Descombes [2], Sós [18], Lesca [11], [12]) that each β with $-a \le \beta < 1-a$ can be uniquely represented in the form

$$\beta = \sum_{k=1}^{\infty} b_k \theta_k,$$

where

$$(14) 0 \leqslant b_1 \leqslant a_1 - 1, 0 \leqslant b_k \leqslant a_k \text{for} k \geqslant 2,$$

$$(15) b_k = 0 if b_{k+1} = a_{k+1},$$

 $b_{2k+1} \neq a_{2k+1}$ for infinitely many positive integer k. (16)

Conversely, every sequence which satisfies (14)-(16) by (13) deter mines a $\beta \in [-\alpha, 1-\alpha)$. The following simple properties of the above expansions hold:

$$(17) N = \sum_{\mathbf{r}} d_{\mathbf{r}} q_{\mathbf{r}} > N' = \sum_{\mathbf{r}} d'_{\mathbf{r}} q_{\mathbf{r}}$$

iff for some k

$$b_{\nu} = b'_{\nu}$$
 if $\nu > k$ and $b_k > b'_k$,

(18)
$$\left|\sum_{r=n}^{\infty}b_{r}\theta_{r}\right|<\lambda_{n-1}, \quad n=1,\ldots (\lambda_{0}=1),$$

(19)
$$\left| \sum_{r=1}^{n} b_{r} q_{r} \right| < q_{n+1}, \quad n = 1, ...,$$

 $b_k = 0$ for $k > k_0(\beta)$ iff $\beta \equiv \{ka\} \mod 1$ with some nonnegative (20) $b_{2k} = a_{2k}$ for $k > k_0(\beta)$ iff $\beta \equiv \{-k\alpha\} \mod 1$ with some positive integer k.

From the above propositions it follows easily that β satisfies (1), (2) and (3), resp. (4), (5) and (6) iff (using the representation (13)-(16))

$$\beta \equiv \sum_{r=1}^{\infty} b_r \theta_r \pmod{1},$$

where

(21)
$$b_{2\nu+1} = 0$$
 and $b_{2\nu} = ra_{2\nu}$ for $\nu > n(\beta)$,

resp.

resp.
$$\begin{cases} b_{2r} = 0 & \text{and} \quad b_{2r+1} = ra_{2r+1} & \text{for} \quad r > n(\beta) & \text{or} \\ b_{2r} = a_{2r} & \text{for} \quad r > n(\beta). \end{cases}$$

n

In the proofs of our theorems we shall consider instead of (3)-(6) (resp. (6)-(8)) the equivalent (21), resp. (22).

The expansion above turned out to be useful for different type of investigations in diophantine approximation. Our proof will be based on the observation that it is possible to handle the discrepancy-function Δ_N by this.

Let

$$\Delta_N(\beta) = \Delta_N([0,\beta); \alpha)$$

and also

$$\Delta_N(\beta) = \Delta_N([0, 1+\beta); \alpha)$$
 for $-\alpha < \beta < 0$.

We shall use with the notation of (10) and (13) the "explicit" formulafor $A_N(\beta)$ (see V. T. Sós [17]):

$$\begin{aligned} \mathcal{A}_{N}(\beta) & & \mathcal{A}_{N}(\beta) \\ & = \sum_{k=1}^{m} (-1)^{k+1} \min(b_{k}, d_{k}) - d_{k} \Big(q_{k} \sum_{\nu=k+1}^{\infty} b_{\nu} \theta_{\nu} + \theta_{k} \sum_{\nu=1}^{k} b_{\nu} q_{\nu} \Big) + \sum_{k=1}^{m} \delta_{k}, \end{aligned}$$

where

$$\delta_k = \begin{cases} 1 & \text{if } k \text{ odd, } |b_k > d_k \text{ and } \sum_{r=1}^{k-1} d_r q_r > \sum_{r=1}^{k-1} b_r q_r, \\ -1 & \text{if } k \text{ even, } b_k < d_k \text{ and } \sum_{r=1}^{k-1} d_r q_r \leqslant \sum_{r=1}^{k-1} b_r q_r, \\ 0 & \text{otherwise.} \end{cases}$$

We shall also use the following corollaries of (23):

(25)
$$\delta_{2k+1} = 0 \text{ if } b_{2k+1} = 0, \quad \delta_{2k} = 0 \text{ if } d_{2k} = 0.$$

(26) Suppose for the expansions (10) and (13) that

$$eta = \sum_{r=1}^{\infty} b_{2r} \theta_{2r}, \quad N = \sum_{r=0}^{n} d_{2r+1} q_{2r+1}.$$
 (4)

Then

$$\Delta_N(\beta) = \sum_{k=0}^n d_{2k+1} \Delta_{q_{2k+1}}(\beta).$$

⁽⁴⁾ When we write $\beta = \sum b_k \theta_k$, $N = \sum d_k q_k$ it means the expansions (10), (13), under the conditions (11)-(12), resp. (14)-(16).



Put

(27)
$$D_{k} = (-1)^{k+1} \min(b_{k}, d_{k}) - d_{k} \left(q_{k} \sum_{r>k} b_{r} \theta_{r} + \theta_{k} \sum_{r=1}^{k} b_{r} q_{r} \right),$$

$$B_{k} = (-1)^{k+1} \min(b_{k}, d_{k}) - b_{k} \left(q_{k} \sum_{r>k} d_{r} \theta_{r} + \theta_{k} \sum_{r=1}^{k} d_{r} q_{r} \right).$$

Then (by (18), (19) and (7)-(9)) $|D_k| \le a_k$, $|B_k| \le a_k$ (28) $|\Delta_{g_k}(\beta)| \le 2$.

Now we give the proof of the theorems for the case of boundedness from above. For the other one the proof runs analogously.

Proof of Theorem A is based on the following lemmata.

LEMMA 1. Let

$$\beta = \sum_{\nu=1}^{\infty} b_{\nu} \theta_{\nu}, \quad \beta' = \sum_{\nu=1}^{\infty} b'_{\nu} \theta_{\nu},$$

where

$$b_{\nu} = b'_{\nu}$$
 for $\nu > \nu_0$.

Then $\Delta_N(\beta) - \Delta_N(\beta')$ is bounded, more exactly

$$|\Delta_N(\beta) - \Delta_N(\beta')| \leqslant \sum_{\delta_y \neq \delta_y'} 2(\alpha_y + 2).$$

Proof. It is enough to prove that in case

$$b_v = b'_v$$
 if $v \neq n$

we have

(29)
$$|\Delta_N(\beta) - \Delta_N(\beta')| \leq 2\alpha_n + 4.$$

By (23)

$$\begin{split} \varDelta_N(\beta) - \varDelta_N(\beta') &= \sum_{k=1}^\infty (D_k - D_k') + \sum_{k=1}^\infty (\delta_k - \delta_k') \\ &= \sum_{k=1}^\infty (B_k - B_k') + \sum_{k=1}^\infty (\delta_k - \delta_k') = B_n - B_n' + \sum_{k=1}^\infty (\delta_k - \delta_k'). \end{split}$$

By (24) it is easy to see that

$$\delta_{\nu} = \delta'_{\nu}$$
 if $\nu \neq n$ and $\nu \neq l$,

where I is defined by

$$b_r = b'_r = d_r$$
 if $n < v < l$, $b_l = b'_l \neq d_l$.

Thus by this and by (25) we have (29).

m

LEMMA 2. Let a be an irrational number with bounded partial quotients; $a_n \leq A$ and

$$\beta = \sum_{\nu=1}^{\infty} b_{\nu} \theta_{\nu}$$

for which $b_{2k+1} \neq 0$ holds for infinitely many nonnegative integer k. Then $A_N(\beta)$ is unbounded from above.

Proof. From the assumption and (16) it follows that at least one of the following two conditions

(a)
$$b_{2k+1} = a_{2k+1}, \quad b_{2k+3} = 0,$$

$$(b) b_{2k+1} < a_{2k+1}$$

holds for infinitely many k.

Suppose (a). Then

$$\begin{split} \Delta_{a_{2k+1}q_{2k+1}}(\beta) &= a_{2k+1} \left(1 - \theta_{2k+1} \sum_{r=1}^{2k+1} b_r q_r - q_{2k+1} \sum_{r=2k+2}^{\infty} b_r \theta_r \right) \\ &\geqslant a_{2k+1} (1 - \lambda_{2k+2} q_{2k+2} - \lambda_{2k+4} q_{2k+1}) \\ &= a_{2k+1} (\lambda_{2k+2} - \lambda_{2k+4}) q_{2k+1} \geqslant \frac{1}{4(A+1)}. \end{split}$$

Secondly suppose (b). Then

$$\begin{split} \varDelta_{b_{2k+1}q_{2k+1}}(\beta) &= b_{2k+1} \left(1 - \theta_{2k+1} \sum_{r=1}^{2k+1} b_r q_r - q_{2k+1} \sum_{r=2k+2}^{\infty} b_r \theta_r \right) \\ &\geqslant b_{2k+1} \left(1 - \lambda_{2k+1} (b_{2k+1} + 1) \, q_{2k+1} - q_{2k+1} \, \lambda_{2k+2} \right) \\ &\geqslant b_{2k+1} \lambda_{2k+1} q_{2k} \geqslant \frac{1}{(A+1)^2}, \end{split}$$

Let $\theta = \frac{1}{4} \cdot \frac{1}{(A+1)^2}$ and $2k_1 + 1 < 2k_2 + 1 < \dots$ be all the indices for which

$$\Delta_{b_{2k_i+1}q_{2k_i+1}}(\beta) > c$$

holds. Put

$$N = \sum_{i=1}^{n} b_{2k_i+1} q_{2k_i+1}.$$

By (23) and (24) we have

$$\Delta_N(\beta) \geqslant \sum_{i=1}^n \Delta b_{2k_i+1}q_{2k_i+1}(\beta) > nc.$$

By Lemma 1 and Lemma 2 to finish the proof of the necessity of the conditions (1)-(3) ((21)) we may suppose that $b_{2k+1}=0$ for k=0,1,...



LEMMA 3. Let

$$\beta = \sum_{r=1}^{\infty} b_{2r} \theta_{2r}.$$

If with a positive constant c we have

$$|\varDelta_{q_{2k+1}}(\beta)|>c$$

for infinitely many k, then $\Delta_N(\beta)$ is unbounded from above.

Proof. When

$$\Delta_{q_{2k+1}}(\beta) > e$$

holds for infinitely many k, then by the same argument as in Lemma 2 it is obvious that $\sup A_N(\beta) = +\infty$.

Now suppose that

$$\Delta_{q_{2k+1}}(\beta) < -c$$

holds and consequently

$$\Delta_{a_{2k+1}q_{2k+1}}(\beta) < -c$$

holds for infinitely many k; for $0 < k_1 < k_2 < \dots$ let $K = \{k_1, k_2, \dots\}$. Put

$$N = \sum_{i=1}^{n} a_{2k_i+1} q_{2k_i+1} \quad (k_i \neq 0).$$

Then

$$\Delta_N(\beta) < -nc.$$

Now let

$$N' = \sum_{\substack{k \le k_n \\ k \ne K}} a_{2k+1} q_{2k+1} - 1.$$

Since

$$N+N'=q_{2k_{n}+2}-1=(a_{1}-1)q_{1}+\sum_{k=1}^{n}a_{2k+1}q_{2k+1}$$

by (25), (26) and (28) we have

$$|\Delta_{q_{2k_n+2}}-1|=|\Delta_N(\beta)+\Delta_{N'}(\beta)|\leqslant |\Delta_{q_{2k_n+2}}|+1\leqslant 3.$$

Hence

$$\Delta_{N'}(\beta) \geqslant nc-3$$
.

LEMMA 4. Let a be an irrational number with bounded partial quotients; $a_n \leq A$ and

$$eta = \sum_{r=1}^{\infty} b_r, heta_z$$
,

If

(30)
$$r = \underline{\lim}_{n \to \infty} \frac{b_{2n}}{a_{2n}} \neq \underline{\lim}_{n \to \infty} \frac{b_{2n}}{a_{2n}},$$

 $\Delta_N(\beta)$ is unbounded from above.

Proof. Since by the assumption the range of $r_{2k} = b_{2k}/a_{2k}$ is finite, by Lemma 1 we may suppose, that

$$r = \lim_{n \to \infty} \frac{b_{2n}}{a_{2n}} = \min \frac{b_{2n}}{a_{2n}}.$$

(30) implies that for infinitely many k we have with some m = m(k) > k

$$(31) r_{2k} > r, r_{2r} = r \text{for} k+1 \leqslant r \leqslant m, r_{2m+2} > r$$

By (23) we have, using $b_{2r} = r_{2r}a_{2r}$ and (31)

$$\begin{split} \Delta_{q_{2m+1}} &= q_{2m+1} \sum_{r>m} b_{2r} \lambda_{2r} - \lambda_{2m+1} \sum_{\nu=1}^m b_{2r} q_{2\nu} \\ &= r \lambda_{2m+1} + q_{2m+1} \sum_{r>m} (r_{2r} - r) a_{2r} \lambda_{2r} - \lambda_{2m+1} \sum_{\nu=1}^k (r_{2\nu} - r) a_{2\nu} \lambda_{2\nu} \end{split}$$

and

$$\begin{split} \mathcal{A}_{q_{2k+1}} &= q_{2k+1} \sum_{\nu > m} b_{2\nu} \lambda_{2\nu} - \lambda_{2k+1} \sum_{\nu = 1}^k \left(r_{2\nu} - r \right) a_{2\nu} \lambda_{2\nu} \\ &= r \lambda_{2k+1} + q_{2k+1} \sum_{\nu > m} \left(r_{2\nu} - r \right) a_{2\nu} \lambda_{2\nu} - \lambda_{2k+1} \sum_{\nu = 1}^k \left(r_{2\nu} - r \right) a_{2\nu} \lambda_{2\nu}. \end{split}$$

Thus

$$\begin{split} \varDelta_{q_{2m+1}} - \varDelta_{q_{2k+1}} &= r(\lambda_{2m+1} - \lambda_{2k+1}) + (q_{2m+1} - q_{2k+1}) \sum_{r>m} (r_{2r} - r) a_{2r} \lambda_{2r} + \\ &+ (\lambda_{2k+1} - \lambda_{2m+1}) \sum_{r=1}^k (r_{2r} - r) a_{2r} q_{2r} \\ &\geqslant (q_{2m+1} - q_{2k+1}) (r_{2m+2} - r) a_{2m+2} \lambda_{2m+2} + \\ &+ (\lambda_{2k+1} - \lambda_{2m+1}) (r_{2k} - r) a_{2k} \lambda_{2k} - \lambda_{2k+1}. \end{split}$$

Since

$$q_{2m+1}-q_{2k+1}\geqslant a_{2m}q_{2m}, \quad \lambda_{2k+1}-\lambda_{2m+1}\geqslant a_{2k+2}\lambda_{2k+2}$$

and

$$r_{2m+2}-r\geqslant rac{1}{a_{2m+2}a_{2m}}, \quad r_{2k}-r>rac{1}{a_{2k}a_{2m}},$$

we easily get

$$\Delta_{q_{2m+1}} - \Delta_{q_{2k+1}} \geqslant \frac{1}{4} \frac{1}{(A+1)^3} - \lambda_{2k+1}.$$



Hence, with $c = \frac{1}{8} \frac{1}{(A+1)^3}$

$$\max\left(\left|\Delta_{q_{2m+1}}(\beta)\right|,\left|\Delta_{q_{2k+1}}(\beta)\right|\right)>c\quad \text{ if }\quad k>k_0.$$

Thus by Lemma 3 we get that under the condition (30)

$$\sup_{N} \Delta_{N}(\beta) = +\infty.$$

Now by the above lemmata we know that when $\Delta_N(\beta)$ is bounded from above, then in the expansion

$$\beta = \sum_{k=1}^{\infty} b_k \theta_k$$

we have

$$b_{2k+1} = 0 \quad \text{for} \quad k > k_0$$

and

$$b_{2k} = ra_{2k} \quad \text{for} \quad k > k_0^*.$$

But this means that, with some n_0

$$\beta \, = \sum_{k=1}^{n_0-1} b_k \theta_k + r \sum_{2k>n_0} a_{2k} \theta_{2k}.$$

This proves the "necessity" part of Theorem A.

Proof of Theorem A will be finished, when we prove the "sufficient" part by the more general Theorem B.

Proof of Theorem B. The proof will follow by the following simple

LEMMA 5. Let with $0 \leqslant r \leqslant 1$

$$\beta = \sum_{\nu=1}^{\infty} b_{2\nu} \theta_{2\nu}$$
 and $b_{2\nu} = ra_{2\nu}$ for $\nu = 1, \ldots,$

$$N = \sum_{r=1}^{m} d_{r}q_{r}$$
 and $N^{+} = N - \sum_{r} d_{2r}q_{2r}$.

Then

(32)
$$\Delta_{N}+(\beta) \geqslant \Delta_{N}(\beta).$$

Proof. By (23) and (25)

$$\Delta_{N+}(\beta) - \Delta_{N}(\beta) = -\sum_{k} D_{2k}(N).$$

But

$$\begin{split} -D_{2k} &= \min(b_{2k}, d_{2k}) - d_{2k} \Big[q_{2k} \sum_{\nu=k+1}^{\infty} b_{2\nu} \lambda_{2\nu} + \lambda_{2k} \sum_{\nu=1}^{k} b_{2\nu} q_{2\nu} \Big] \\ &= \min(ra_{2k}, d_{2k}) - rd_{2k} [q_{2k} \lambda_{2k+1} + \lambda_{2k} (q_{2k+1} - 1)] \\ &\geqslant \min(ra_{2k}, d_{2k}) - rd_{2k} \geqslant 0 \end{split}$$

which proves (32).

Now let N^+ be the set of integers N, for which in their expansion (with respect to α)

$$N = \sum_{r=1}^m d_r q_r$$
, $d_{2r} = 0$ for all ν .

To finish the proof of the theorem by Lemma 1 and Lemma 5 it is enough to prove that if

$$\beta = \sum b_{2\nu}\theta_{2\nu}, \quad b_{2\nu} = ra_{2\nu}, \quad \nu = 1, 2, \dots$$

then

$$\sup_{N\in N^+} \Delta_N(\beta) < \infty.$$

Using (9) and (26) we get

$$\begin{split} \varDelta_{N}(\beta) &= \sum d_{2k+1} \varDelta_{2k+1}(\beta) \\ &= -\sum_{k=1}^{m} d_{2k+1} \Big[q_{2k+1} \sum_{\nu>k} b_{2\nu} \theta_{2\nu} + \theta_{2k+1} \sum_{\nu=1}^{k} b_{2\nu} q_{2\nu} \Big] \\ &= \sum d_{2k+1} [q_{2k+1} r \lambda_{2k+1} - \lambda_{2k+1} r (q_{2k+1} - 1)] \\ &= \sum d_{2k+1} \lambda_{2k+1} \leqslant 1. \end{split}$$

Remark. It could be shown, that the conclusion in Lemma 3 remains true without the assumption α has bounded partial quotients.

Also the conclusion in Lemma 5 remains true with the weaker assumption (a_{2n}) is bounded. This means, that the conclusion of Theorem A remains true when we suppose only the boundedness of (a_{2n}) (for the boundedness of $\Delta_N(\beta)$ from above) resp. the boundedness of a_{2n+1} (for the boundedness of $\Delta_N(\beta)$ from below).

References

- P. Deligne, Les difféomorphismes du cercle, Séminaire Bourbaki, no. 447, 1976.
- [2] I. R. Descombes, Sur la répartition des sommets d'une ligne polygonale régulière nonfermée, Ann. Sci. École Norm. Sup. 75 (1956), pp. 284-355.



- [3] Y. Dupain, Intervalles à restes majorés pour la suite (na), Acta Math. Acad. Sci. Hungar. 29 (1977), pp. 289-303.
- [4] Intervalles à restes majores pour la suite (na), Bull. Soc. Math. France (to appear).
- [5] H. Furstenberg, H. Keynes, L. Shapiro, Prime flows in topological dynamics, Israel J. Math. 14 (1973), pp. 26-38.
- [6] G. Halász, Remarks on the remainder in Birkhoff's ergodic theorem, Acta Math. Acad. Sci. Hungar. 27 (1976), pp. 389-396.
- [7] E. Hecke, Über analytische Functionen und die Verteilung von Zahlen mod Eins, Abh. Math. Sem. Hamburg 1 (1922), pp. 54-76.
- [8] H. Kesten, On a conjecture of Erdős and Szüsz related to uniform distribution mod 1, Acta Arith. 12 (1966), pp. 193-212.
- [9] M. R. Herman, Conjugation C[∞] des difféomorphismes du cercle dont le nombre de rotation satisfait à une condition arithmétique, C. R. Acad. Soi., Paris, 282 (1976), pp. A503-A506.
- [10] Sur la conjugacion différentiable des difféomorphismes du cercle à des rotations, Thèses, Orsay, CNRS, No. A.O. 12. 451.
- [11] J. Lesca, Sur la repartition modulo 1 des suites, Seminaire Delange-Pisot-Poiton (1966-67), f.1, n.2.
- [12] Sur la repartition modulo 1 de la suite na, Acta Arith. 20 (1972), pp. 345-352.
- [13] A. Ostrowski, Bemerkungen zur Theorie der diophantischen Approximationen, Abh. Math. Sem. Hamburg 1 (1922), pp. 77-98.
- [14] K. Petersen, On a series of cosecants related to a problem in ergodic theory, Comp. Math. 26 (3) (1973), pp. 313-317.
- [15] V. T. Sós, On the theory of diophantine approximation I, Acta Math. Acad. Sci. Hungar. 8 (1957), pp. 461-472.
- [16] On the distribution of the sequence {na}, Tagungsbericht Math. Inst., Oberwolfach, 28 (1972).
- [17] On the discrepancy of the sequence {na}, Coll. Math. Soc. J. Bolyai, Vol. 13, pp. 359-367, 1976.
- [18] On the theory of diophantine approximation II, Acta Math. Acad. Sci. Hungar. 9 (1958), pp. 229-241.

U.E.R. DE MATHÉMATIQUES ET INFORMATIQUE UNIVERSITÉ DE BORDEAUX I Talence, France EÖTVÖS LORÁND UNIVERSITY DEPARTMENT OF ANALYSIS I Budapest, Hungary

Received on 15. 2. 1978

(1044)